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4 (a)   
 
At 90 ºC/higher temperature 

• Faster rate AND more frequent collisions  
 

• More particles have the activation energy/Ea or 
greater  
 

 
• [Co(H2O)6]2+ is lower  

 
• (forward reaction) ∆H –ve OR exothermic  

 

4  
 
 

AO2.7 
×1 
 

AO1.2 
×1  
 
 
 

AO2.3 
×1 
 

AO1.2 
×1 

 
ORA for 50 ºC 
 
IGNORE more successful collisions 
 
 
ALLOW more molecules have enough 
energy to react 
 
ALLOW atoms/molecules/ions 
 
ALLOW decreases 
 
 
 
 
 
 
 
 
 

 (b) (i) Cl– /It/They react with AgNO3 / Ag+ /silver ions  
OR  
AgCl formed  
OR  
Ag+ + Cl– → AgCl  
 
 
 
 
 
 
 

1 AO3.2 IGNORE chlorine/Cl for chloride ion 
 
IGNORE AgCl2 
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  (ii)  
[CoCl4

2–] decreases AND [Co(H2O)6]2+ increases  
 
 
 
 
Cl– increase is 4 × change in [CoCl4

2–] / [Co(H2O)6]2+  
 
Equilibrium shifts to right  
 
 

3 AO3.1 
×2 
 
 

 
 
 
 

AO3.2 
×1 

 
 
IGNORE missing charges and small slips in 
formulae, e.g. CoCl4 missing bracket, etc 
 
 
IGNORE Cl– for changes in concentration 
 
ALLOW suitable alternatives for ‘shifts to 
right’, e.g. towards products 
OR in forward direction OR ‘favours the right’  
 

  




